(A) TR (B) wey "rg (©€) g:n{g( (D) W i
The Narora Atomic Power Station is locatég in which district of Uttar Pradesh 7
(A) Hardoi (B) Hathras 1j (C) Hamirpur (D) Bulandshahar
s e 6 onfiria qrr g 5%
A) ®) deswfir O () W= (D) el ;
What is the official currency of the Umlcd[Klu:dum ? !
(A) Euro. (B) Pound ¢ Sterkfnp (C) Yen (D) Dollar i
PICHECRITE D R ©) ' q
(A) S T Bredt & =
(B) ﬂva’rm@mé\w% - ]
(C) T it ST Ffekor Sl sttt st et i

What is Greenhouse gas ? :
" (A) Gas that releases oxygen

(C) Gas that emits and absorbs infrared r@atlon i
(D) Gas that absorbs carbon dioxide o= :

mqﬁ@w@aﬁﬁﬂnﬁw =0 e St ﬁ
The identification number given to every. régistered supplier is Bt

TS 1 o TS IATCH TSI FTATE 2.

T vy fereger wfedsr e wer 3 e oY of Rerer § 9

(D) ﬂaﬁaﬁwmaﬁmﬁam%

%#

(B) Gas that releases hydrogen |

(A) IGST  (B) GSTIN' § (OF GSTHi (D)HSN

(A) T @) g@mn (©) WEH (D) TR
Which State is the largest producer of bajra ? R : bl i
(A) Gujarat - (B) Haryana (C) Rajasthan . (D) Maharashtra.
6. & UUfa 2, 37egd FHeam ot H. A, @mmm% Ay '
(A) méﬁﬁmaﬁmmm (B) mﬁqa'mzﬂwaﬁ%%qqmﬂm
(C) T2 3ell & form & Ut oise (D) mﬁmrﬂwmvrmaw : e
The PURA scheme by the former Presiden{Br. Abdul Kalam refers to': .. ' GG
(A) Providing Urban Amenities in Rural &teas (B) 'A Plan for Urban and Rural Areas '
(C) A model for the growth of the metro GD es (D) Providing Urban-Rural Alignment = i
7. aﬁmmnmﬁfﬁqﬁm%mﬁwﬁ@aﬂtmmm%mmwwﬁﬁm??
Which organization is responsible for p@ldmg guidelines and assistance for dlS&StCl’ nsk reclut:tlﬂ'11
worldwide ? :
(A) UNDRR (B) UNESCO (© WTO - (D) WHO Prvas
(A) TFELL 4 C (B) qﬁ'ﬁ‘ﬂ?ﬂa () ﬁﬁe’mﬁeh (D) anmaaﬁft
Who authored the book “An Era of Darkness“ ?
(A) Shashi Tharooy ~ () : (C) Christopher Bayly @) Asaf Al L e
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g, e G SR et foher e g ol o 7
In which year was the Cyber Surakshit Bharat Initintive launched 7

(A) 2018 (B) 2016 (C) 2015 (D) 2017

10. G20 297t 3 4G STETT T AT I & o
(A) T (B) SFE H g .
What does the letter “G" stand for in G20 Niitions ? @ T
(A) Group (B) General [:'] (C) Great (D) Good

1. m.mmﬁwmmﬁ%mg; |
(A) e (B) S Haitlt r:_"_“) (©) Wi () S
Fieldwork-based rescarch is clagsified as : L )
(A) Historical (B) Biugmphical(""} (C) Empirical (D) Experimental

12. WWWW*T‘@WW%? () Wi

(A) SRy wrife A FRE e T (B) WIEHF HATGH-GH FY gl o
(©) e sTar i i FE (D) Siristia ATl e bl et R
What is the role of the United Nations Security Council ? : /

(A) To maintain international peace and security (B) To promote cultural exchange
(C) To regulate global trade _ 4 (D) To oversee international humanitarian aid

NOAA 1 Adea & : gt

(A) WW%WWW@WWWW@W

L (© TSmE sl A e "iﬂ"ls‘rﬁ'cﬁﬁts'f@ etk e TEIT)
(D) FIEHT T T (A A T 'I -”]
) stands for: -

: (m; or Arts Accreditation(:)

Atmospheric Adffiinistration
10Sp heric Association

(D) Kerala

T (D) foemaeH

_ Vaste’ in Jammu and Kashmir in
(©)

e s
-----




17.

18.

19.

20.

21.

22,

23,

24,

-

Nsiar facreor sy s @ afgar R FHrER e & Freferftr v i & e oo s e 2
(A) faReofgam  (B) fofea Feprem (C) R (D) Tt 3izam

The distribution of mangroves is mainly found in which of the following parts of the Andaman and

Nicobar group of islands ?
(A) Little Andaman  (B) Little Nicobar (C) Car Nicobar (D) North Andaman

ﬁﬁﬁ%ﬁﬁ.ﬁ@ﬁﬁﬂnﬁmmﬂ,m%ﬁﬁmw%:

(A) e @ (B) S99 e J-ﬁ (C) FEUTR (D) FFcrFsiet FATHT
The discovery of penicillin, which revolutionized mgdicine, is attributed to :
(A) Robert Koch (B) Jonas Salk =) “(C) Louis Pasteur (D) Alexander Fleming

agm%sﬁéﬁaﬂaﬁéuﬁiaﬁmm{%ﬁaﬂzmm-ﬁﬁwmwam%ﬁﬂmm
STRT T T A FHAT ST R | b
(A) T B) T D awmw (D) AT

is money that is earned through legitir@fe means and is accounted for, for which income tax or
other tax is paid.
(A) Black money (B) New currency (C) White money (D) OId currency

Tt wRr S SeTaHT (S2fRTeRT) # F-ar v1eg 7 Zuiiar @ o v fort oft aredt frem a2 2
(C) d7Ui 9989~ (D) SHSET

(A) vufRde (B) TR
Which term in the Preamble of the Indian Coijstitution signifies that India is free from any external
control ? P

(A) Secular (B) Republic ~— (C) Sovereign (D) Socialist

e i fferfe 3 & 81 GaT aruracht 3R e g & e e 8 2
(A) HIEETH TSR ()(B) FREH ISR

(C) BIRIATTH T3 (D) TR ISR
Which among the following plateaus in India lie between the Aravali and the Vindhya region ?
(B) Marwar Plateau

(A) Malwa Plateau
@ (D) Deccan Plateau

(C) Chota Nagpur Plateau

S % S & ©9 1 ol ST SITaT € 2

(A) FfFTSs (B) UTSYFIRE (C) FITH (D) 3
Who is known as the ‘Father of Geometry’ ? :

(A) Euclid (B) Pythagoras (C) Kepler (D) Aristotle
i sfea G i G g (v IUERH) T IR S ST S TS 2
(A) I Trgge FAT _ 6~ (B) e quifed FT

(C) @i ITanTHRataH T wefieh He |_|(D) et =t mme

What i the primary benefit of using analytics todl§in social media communication ?
(A) Scheduling posts () (B) Editing content ;

(C) Blocking unwanted users l (D) Measuring performance
v |, o afirfamm 3 T o atrarard 3 fge & fore s9t@T Yo i 2
(A) DIR#fufgm  (B) UAPA Y (©) posco fufiam (D) MISA

l; (
" " " {'=.
In India, which Act provided the framework to déﬁi)with unlawful and terrorist activities ?

(A) DIRAct ~ (B) UAPA (C) POSCO Act (D) MISA

-------------------
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25.

26.

27.

28.

29.

C(O) TR TR

(D) e g e (Al S

WA — & 1 Rraw geiert wrdun e 2 2

(A) SATIR STUTAY Y HH FHEAT

(B) Voo wmear afit e wedi sh wefed ehicll
(C) e = srgram 3 '

(D) wiEHioe nfafafe ) Rt wer

What is the importance of India — Russia Annual Sumhit’?
(A) Reducing trade barriers

(B) Strengthening strategic partnership and defence
(C) Promoting tourism

(D) Regulating cultural activities

Brerer i <shde T 1Ioq oh1 T AU 2
(A) =7 Bt & Wi e 7 =, STre TR AT
(B) 3ailod hoe i saiih il '

D% =

eration

@

(D) TS e THHT ek 2 PR

What does the term “content curation” refer to in socnagﬁedla ?

(A) Selecting, organizing and sharing relevant conteﬂom other sources
(B) Blocking unwanted content
(C) Deleting old posts

(D) Creating original content

i oce: SRR C AR
SAC code consists of ___ digits. ;
(A) 6 B) 10 Qe @) 5
[T e O F ®9 H fordl ST ST o1 ?

14 (B) wa fig

(A) QUEERSE
(C) SarEEe e - (D) TE TETITS 9eet
Who was known as the ‘Iron Man of India’ ?

(A) Subhash ‘Chandra Bose (B)4,Bhagat Singh
(C) Jawaharlal Nehru (Q)e Sardar Vallabhbhai Patel

1997%W@ﬁﬁamwaﬁﬁwwmiﬁjﬁ%m,ﬂwaﬁtm@mm%?
(=]

A sryam w@fYy () ©
EB)) % ghEr g (@ﬁ.ﬂ@ﬁ.) E)
(C) =9 THIY- yferaer gftr (&AL

OUO%

)
Which international treaty, adopted in 1997, aims t@liminate the production, stockpiling and use of

hemical weapons ? .
fA‘):m Nuclcartlj'ion-Proliferatlon Treaty (NPT) )

i ion (CWC)
hemical Weapons Convention (
Eg; gofnprehcnsivc Nuclear-Test-Ban Treaty (CTBT)

(D) Biological Weapons Convention (BWC) |
mﬁﬁ%ﬂwﬁﬁaa&ﬁmmﬁaﬁ? iy

In which year did India gain independence from British rule ?
(A) 1947 @) 1964 - i (G) 1943 NI L ) i

e . @ Wate rmarkl
o5/ d

R



3L T SeRTe witaqor atfbifans ot e gar 2

(A) 12 frdar, 1993 4o (B) 10 37T, 1993

(©) 109w, 1993 o (D) 28 R, 1993

The Protection of Human Rights Act came E'ritp force on : :

A) 12t September, 1993 ) (B) 10" October, 1993

(©  10™ July, 1993 O, (D) 28" September, 1993
32, VR N Aot st Y i g A g o W14 ST AT |

(A) RRewifenr  (p) A @ e (C) P (D) @@= vRd

The cashless cconomy in India has been an@ﬁcd with the Indian Government’s initiative of

(A) Digital India (3) Banking sector crisis  (C) Demonetization (D) Swachh Bharat
33, Tt e & o sryede i v ) e e 2

(A) 3T 245 (B) ¥T=3T 246 - (C) TR 243 (D) F=2 250

Which Article of the Indian Constitution provides for the establishment of Panchayats ?

(A) Article 245 (B) Article246%: () Article 243 (D) Article 250
34. e o o foger v fer e S v o el o 2 2 |

(A) 233" (B) 19 =t o (C) 1631 (D) 259

Which day is celebrated as World Meteorofdgical Day ?

(A) 23" March (B) 19th Januan% (C) 16t April (D) 25" March
35. Tr=fafad & & -6 yra § wod 791 @R ShearE 2 2

(A) TR Ve Hidgsd Ue Himen (B) U Ffirehey U wieamss fifiee

(C) wRIed Setma fafite (D) 3feT7 wrd widamsr Freimis fRifie

Which of the following is the largest fertiliser producer in India ?

(A) Gujarat State Fertilisers and Chemicals Ltd. (B) Rashtriya Chemicals and Fertilisers Ltd.

(C) Coromandel International Ltd. (D) Indian Farmers Fertiliser Cooperative Limited
36. fora fam it st wiifer e & v & w=rditme 2 0

(A) M47@=R B) UFEE B2 (C) 193w (D) 21 fyarar

Which day is recognized as International DEof Peace ?

(A) 14" November (B) 11™July 32  (C) 19 August (D) 21% September
37, o i Tt sier Y s o g At & s 2

Which ancient Indian text is known as the @ence'of Ayurveda’ ?

(A) Manusmriti (B) Mahabharat@ (©) Charﬁka Samhita. (D) Arthashastra
38. R i geel Afer Tu WA T oft 0

(A) afsr amg (B) Wt (C) fear it (D) Wi aie:

Who was the first female Prime Minister of India ?

(A) Sarojini Naidu  (B) Mayawati (C) IndiraGandhi (D) Sonia Gandhi
Wzsd . . T

ey i e
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39.  F=RiRag
i) 4 fww (i) 1 g |
ick out the odd one from the following.
3,5,7,9,11,13,17, 19
&) 19 B) 9 (&3 (D) 17
g5, %mﬁﬂ%lmﬁmﬁﬁwmﬁﬁmﬁmmﬁ@mwﬁw
? figure is given. You have to identify which amon%«‘.ﬂlc following pieces is 10t required to make this
igure,
3?773;347??@ / Given figure ! 8
- ®
o il e e\t m (]
41. Fewrg@H
Find the odd one out. :Fg _ :
o™
(A) (B) (C[;] D)
@ | ESQ‘ ’
42, A s @ X 9@ o | ] '
Find X from the given series. O
64, 57, 50, X, 36, ...
(A) 48 (B) 42 (C@) 43 (D) 44 L
43. FEand STt e T e | |
Find the next number in the series.
280, 275, 265, 245, ... i
A) 215 (B) 205 (C) 210 - (D) 220
44, FRTAZ800 # ue Tgfh @i IR T 9201??%3% | ST T SereTa TR 2
Arun bought a cycle forT 800 and then sold it for T 92 $ What is his profit percentage ?
(A) 30 (B) 10 ( 015 (D) 20
45, FRAACHUIREAASE 2, 27 % ar§ A | T, S S 37 & AfteT Ia we A T R | T, wHt 3R W
s TR I ALY (q_%ﬁw i
(a) & (B) eH (D)
Four friends are sitting in a row. Sam is 10 I'hc right of 'am. Amy is to the left of Tom but not next to him.
Rick is between Amy and Tom. Who is sitting at the fargight ? ' ! :
(A) Rick (B) Tom (@ sam @) Amy
46. aﬁAchaﬁgZY}{‘é,?ﬁDEFEﬁTaﬁ%’W%?
If the code for ABC is ZYX, what is the code for DEF ? S
() UVW B ¥ (o) WYQ G0 S
TTT it E ki S S T R

%wensnil' @ Watermarkly




47, :
ST e 3t g iR |
Find the dilszsimilnr pair of numbers, :ﬂé 3 27
Wiy ik E gis o wid
48, 4 ; BLEI
WWWWWW@%@WWW%WW%%W (feEaT) T
%@ﬁaﬁ%{ammm@ﬁm@ammmm%? , s
A plane intersects a regular tetrahedron irmch a way that the intersection forms an equilateral triangle.
How many such planes can do this ?
W 3 (B) 4 QO  (© 1 (D) 2
49, @mﬁwmﬁﬁmmm@%ﬁw’ gy it oy il 3 eyt & 1 T 39 S
Ty weift & 2
(A) wisft (B (©) ueh (D) & :
Pointing to a man in a photograph, Asha said “His mother’s only daughter is my mother. How is Asha
related to that man ? :
(A) Niece (B) Nephew sy (C) Wife (D) Sister _
50. T TRt A IR TN F g e T wemd g 3 Rar B sopelid e £ 34 2 17 e 3w e & R
. YER U@ ? Eh_gl:[’:]
(A) T ® @ . X (© T (D) s
Pointing to a girl, Vinod said “She is the d@hter of the only sister of my father.” How is Vinod related to
the girl ?
(A) Father (B) Grandfathel |  (C) Uncle (D) Cousin
51. TR o FrerRrfa R v v i i i g s i fgsit a3 e 35 Pt
T ¥ ¥ e e Rig ¥ ®
Study the following positions of a dice and determine how many dots are there on the dice face opposite
the one with three dots.
]
63
@A) 5 B) 6 L] D) 4
52. f=fafeq 4 & g EN
Select the odd one out from the following, Q
@A) 11 (B) 23 28 T 0~ P D) 17
53, aAeRfa # Pt ot dea gra hifsg | 8
Find the number of t(B'angles in the figure.
s _ﬂ_‘_;_ -
DX
b, | W "
9) \‘._ 5
(A) 14 o B (£ 12 (D) 18
"""""""""""""""""""""" Page8of24 T TTTTTTmmmmmmeeeee e
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54. fowme Rt i & R (e = v |

A man sold an article at a loss of 2
What is the cost price of the article ?

(A) 74,850 () T7,800,
--------------------------------------- iIi’L
HTZ ASAT,
HTZ-2.4 & > ”{o
@
EDUCATIONAL
WEBSITE
%‘91 04.

%
EShasate)

= ‘ (B) T (C) anfe (D) Tt
Find the odd one out from the given alternatives, !
(A) Cookies (B) Milkshake i‘p (C) Burger (D) Pizza
| —
a.l’)
55. s 9
‘ )
2 Rw e fereredi # & s sjwen if el w@}‘h;na-qafam
Find the next figure in the above series from lhc@phons given below.
/] 111 A% A4
I 11 n
(A) 1 (B) IV 3‘5’; (C) V (D) II
56. g@wﬁmﬁwﬁﬁmaﬁﬁm és?i
Find the next figure in the series. (‘j
O A 0 O
&
@ A ®) V © < ®) 4
57. a‘f@mﬁfxm@a‘@ﬁmaﬁﬁm “H
Find the odd one out in the series. r)l_l
B4, D16, F38, H64, 1100 o
, & (C) F38 (D) B4
(A) DI6 (B) Ho64 N
. _I" % T T BT |
58 mwﬁsqmaqmzo%aﬁgﬁm%mmﬁaﬁsﬁf1,200&%&%39%,&3&54 g
' ' O a
WWWW% ’ 0%. If he could)sell it for T 1,200 more, he would make a profit of 5%.

(©) T4,700 O AR

T e ST

® Watermarkly
B s ——2




SR ' &Eﬂﬁmﬁlmﬁﬁr@a&%%%
ﬁ%ﬁ,@ﬁtﬁTS,lzsaﬁ@HUﬁTﬁ@maﬂt@
59, Eu"i:hézaﬁzo%ﬁmﬁqtéaﬁmluﬁwaﬁmaﬁmﬁ@mma,am‘_mwﬂﬁ

L RAETEIRIN

At a village trade fair, a man buys a horse and a camel for a total amount of T 5,125. He sold the horse at

' ] e animals at the same price, then the
profit of 25% and the camel at a loss of 20%: If he Il,:ﬁil sold both the anim p en the

o
3
Lo

g @ ”é‘ifs%ﬁ““’ o Tl;i;mé;gsbo ) z6900 ., (D) 8,500
e 22w ot st S e T (HCE) TIAGRT |
 Findithe HCE of22% 3° x 5%, 24325, ® 4%
E: (A) 22x3 x8 B) 22x32x9 @r 22x32x5 (D) 22x32x7
61. 90, 128, 144 T wAE (LCM) IR iR | ()
Find the LCM of 90, 128, 144. (3 -
(A) 5762 (B) 5764 (C) 5758 (D) 5760

62. 3V fRA i et -crfeurat SIS &, A3 S & U 1 ST WS e T 65% Wil 3 &9 H Tirerar @ Tarh
TER T I T o0 H 80% YR 3 9 3 fireran # | A vt safh o qet Ao <, 36 AT F g9 I T
IR 2

_ The total emoluments of two persons are the same, Bit one gets allowances to the extent of 65% of his
basic pay and the other gets allowances to the extent 61280% of his basic pay. The ratio of the basic pay of

the former to the basic pay of the latter is : {;E '

(A) 7:5 (B) 12:11 (% 16:13 P (D)ES - 4 :
63. gmmmaimq_@qtzo%a?r@ém%|@W‘ﬁ@“ﬁ“44%awamém%mﬁa€aﬁ?rqﬁrm

a8, 91 Y % 1 Fifv | [

A trader allows a discount of 20% on the marked pric{é'.‘}He still has a profit of 44% on the cost price. Find
the profit % if he sells at the marked price. (E}‘t

(A) 80% B) 49% ©) 90% (D) 63%

64. @Wwaﬁﬁ@mﬁmaﬁzmgw%ﬁm%ﬁﬁﬁwaﬂﬂ%ﬁw%mm

T T 10% Yo el & | G forsvT 38 4,002 atfires 9
%Wﬁmmwﬂ%m? IS R, SRy 259 1w stk g | st

A trader sells one item to a retailer at a 20%

delivery and packaging, The retailer sells it for

price had the trader marked the item 9 oy
i

A) T 18,000 B) % 18,6 (Lag*-

(A) (B) : 00 b T19.400 (D) T19,000

65. a1 termisat fawda fawm i 29 fef/eer sk 25 Rt et

R T E | Ay
XY T w6 S A T 2 A ﬁ' mﬁmmﬁ?‘@m*ﬂﬁﬁﬁ

discoigt, but charges 10% on the discounted price, for
r 4’9:?"2 more, thereby caming a profit of 25%. At what

(A) 110, (J:) 90 . ; (B 85, (D) 100 =i,
Two trains are moving in the opposite directions at 29 m/hr and 25 km/hr, The fa i
: g ster tr
in the slower train in 6 seconds. Find the length of the"fister train. S paGH R man

(A) 110m (B) 90m ) 85m

- -

-
S e e -
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66. % HEa I i oy 15 19%W%ﬁﬁmé@mmmsﬁ3 . 4 3 ST ST S 4 |
Find the number that must be subtracted from the tcnns;i}:l‘thc ratio 15 + 19 to make it equal to 3:4

(A) 4 B) 5 cJ_t (D) 3
(=]
67. e ey 3 diar oy 3 A 125% 3tferes ® | o diar sl "ﬁﬁmﬁmﬁﬁmﬁgﬁmazm%?

Mita’s income is 125% more than that of Sita. What perccnt i« Sita’s income less than that of Mita ?

1 : K
(A) 225% (B) 55.55% (CY"§:5%

(3
68. wmﬁﬁﬁwﬁﬁr%ﬁﬁwﬂ%wmg'{JCF)aﬁmm%%,?ﬁaiﬁﬂﬁ%WZ‘a’m%aﬂt
i TS Tet & oifer e shwar: 2, 4 A28 8 | & 3 T %1 3 A |

When we calculate the HCF of two numbers by long division method, the last divisor is 2 and the
successive quotients from first to last are 2, 4 and 2 respectively. Find these two numbers.
(A) 20,24 (B) 12,16 (C)g418, 40 (D) 16,20

69. 53,2401 TR 3 TN H 10% Tl AT (3 & S ST el & | A R R 2

A sum of T 53,240 is accumulated in 3 years at 10% c ound interest (compounded annually). What is

the original amount ? a'?.
(A) 60,000 (B) 30,000 (Ck:j.‘ 20,000 (D) ¥40,000

w5 R Al 1 sl it o7 €3 § 3 o s A A T 3 | AR Y e o e v A
qeT i 11 T &, A et st < v e o @ e & 2

The average monthly income (in %) of certain ag’ricultur@jvorkers
number of agricultural workers is 11 times that of other workers,

of all the workers is :
S+11T S+T

11S+T ®) —1-+T ©
12 [1.S ¢ 12 ©@) 2

7L, qaiﬂa'rai‘ra’ramﬁaa’ltéh75%nm#aﬁm3ﬁqﬁ§ﬂﬁﬁ2%mmww|wanﬂmﬁggm
dre firerd & oft et 9 e 1 75% B | A AR 3\ et AT T ShifTe |

There were two candidates in an election. 75% of voters cast their votes, out of which 2% of the votes
were found invalid. A candidate got 9261 votes which witre 75% of total valid votes. Find the total number

(D) 124%

70.

is S and that of other workers is T. If the
then the average monthly income (in )

(A)

of voters enrolled. O
(A) 16,505 (B) 26,600 - (C]]1,600 (D) 16,800

72, 250m.ﬁgﬁﬁ@gmmﬁm@ﬁﬁ%@1mﬁI@Wn‘\wmﬁm%ﬁa\nﬁwﬁw
%luﬁ:aﬁtrﬁmﬁrlsﬁzﬁmaaﬁtgﬁﬂaﬂﬁnﬁrzéﬁﬁmﬁaa},a}ﬁ%qﬂ%aﬁaﬁﬁwma
% AT T 7 ;
(A) 700, (B) 950 Ht. (C) 1000+, (D) 8507

A thief is spotted by a policeman from 250 m. When the policeman starts chasing, the thief also starts
running. If the speed of the thief be 16 km/hr and that of the policeman be 20 km/hr, how far would the

thief have run before he is caught ?

(A) 700m (B) 950 m (C) 1000 m (D) 850m
I:I:[‘- ................................. 15\%‘41- .........................................
Z-2.4 , YY—\"Qg T 5 e R R T i
Q Z
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T3, o R 64 it ik o s P it o | e et and , o7 iRl 3fcd o e TR 3 otmae
VTR | Y 3 SR 2 T 0 1 S & | A 3wk i o o st 1R 2 |
A cricketer had a certain average of runs for his 64 innings. In his 65“'l inning, he is b?wled ;ut for no
score on his part. This brings down his average by 2 runs. Then what 18 his new average o runs
(A) 170 (B) 168 ©) 130 6« (D) 128

4. o e Tl e @i ) H 10% ST 4,840 T ST AR afir et ?
&‘nd interest (compounded annually)
What is the sum of money that becomes ¥ 4,840 at 10% rate of compound in
after two ycars ? .
(A) 3400 (B) 1,500 © w4000 [] (D) 4500 o
75, X iy e 12 Ref o 18 Reft i o wR # | 9 o e e e g e S 4
¥R Y PSS v 3 X ¥ 3 fw wHw qu e | 8 qu e P @51 d g ge an ?

(&) %S-ﬁq (B) %ﬁq (©) 10fA (D) 18f

X and Y can complete a work in 12 days and 18 days respectively. They started doing the work together
but after 4 days Y had to leave and X alone completed the remaining work. In how many days was the

whole work completed ? 4
(A) 2—38 days (B) %days (C) 10days = ~ (D) 18days

76. T SR 40 AT F U GOt I F el = o <ar @ ik 25 w%ﬁﬁam%l 24 oAt & =, 77

m%ﬁm@ﬁmmaaﬁm@ﬁmmwaﬁﬁ%ﬂmmw4ﬁ=rqaém
T W 2 : .
(A) 757 (B) 70 & (C) 100 FF Cl (D) 60 9e

A contractor undertakes to make a tunnel in 40 days and employs 25 men. After 24 days, he finds that only

one-third of the road is made. How many extra men should he empl&so that he is able to complete the-
work 4 days earlier ? :

(A) 75men (B) 70 men (C) 100 men (D) 60 men

77. 41§ Hre T 1 I e At siveafs #) e s st 4, X REMATR, 0, = P awiard,
b2 Set aﬁ'm%aﬁ{ St e H?[E’ﬂf?ﬂ% | ;

Simplify the following expression using the given code language, whg:tg “+’ represents ‘x’, ‘x’ represents
‘=, ‘=’ represents ‘=’ and ‘<’ represents ‘+". D
16x4+4+14-2 2
(A) 76 . (B) 28 (C) 40 L) ) 3s
78. U 3TTGHT T S TR FL G, FTN 3 g, et Gar i ms‘wrzar%nﬂa% I” 9% 3wt el 3 fRg
e Gaifer & 7 .
() o (B) ©ww  © g @
Pointing to & man, Kalyani said, “His grandson is the only son of my brother.” How is the man related to
Kalyani ?
(A) Father (B) Brother (C) Nephew (D) Husband
HZaR - LT PRASA TS Page 12 024 T e e e
Y e Nt |
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79.

Heiftra ¥ T I | :
(D) gTcH

oIS : Wy & faww e 7 e
(A) TRET B) i g ©
Find the related word. W b
Prime : Composite :: Odd : ? A Fven (D) Positive
(A) Rational (B) Infeger [__] € Ev
X o
g0, e N W A | N
Find the missing term in the series. O
ASBC, A4CE, A3DG, ___, AIFK : (D) A2EG
(A) A2EI (B) A2Fl 8 (C) AZEF
st A gE A Een IR ATl @)
Find the missing number in the given serics.
11, 15, 24,40, 65, ? . (D) 100
C): 95 :
® 101 B) 90 éa;ﬁwﬁ%mﬁﬁqm%mﬁﬁ@wﬁmm
82. ﬁwﬁfﬁaﬁmﬁ.mﬁqmm%wwm i |
52 3 3Tl T ST T eI A S den | ?t?hm LR
fq7 7T UIsE : “MATHEMATICS” : ; e a given
In the following question, you will find four agﬁitional words prov'lded as ﬁtﬁggf;stzil:g:rd- g
word. One of these words cannot be formed usi@lhe letters of the given wWord.
Given word : “MATHEMATICS” @ : :
( A) NIATTER (B) THEM o (C) MATH (D) MATE
. IR p@q=p>+a*+2p9, p#q=pi-P-2 T @2#4 FAA TR ?
If p@q=p2+ q®+2pg, P #q=p*- q2—2pq®hat is the value of (7@2)#47
(A) 493 (B) 5897 @ (C) 568 (D) 6480
84, e Ry T IR St e forg (7) 3 T R AT |
Find out the alternative which will replace the question mark (?).
243:23%::621:7 2
(A) 61° ®) 12° (0)-21* (D) 62
g5, frferfiaa we H, eI g T WsE o W SN %Wﬁmﬁ%wﬁﬁqw%.l I T T I YT
m%MWWWﬁmmmlmﬁml |
fearmar 91z : “FORMATION” _
In the following question, four other words ar%%rovided as alternatives alongside a given word. One of
these words cannot be formed using the letters o{l}he given word. Identify that word.
| Given word : “FORMATION”
. (A) RATIO (B) MINOR D (C) MAJOR (D) TRAIN
- 6. W'{gm
ol Fe ;W @)
(A) i () B) T C) (D) T (3S)
Complete the analogy : '
Dog : Kennel :; Lion :
B L LT ©y Den' oo (Dyshed” o tai.

wiessTs @ Watermarkly



| 3,
i %ﬁﬁm8kmw-mmﬁ'#ﬁﬁaﬂtﬁkmaﬁﬁwﬁ,ﬁﬁaﬂaﬁﬁw4h§?ﬁ =
R SR, 18 kmaﬁﬂaﬁtmﬁﬂwﬁlmﬁmﬁi@%ﬁmﬁﬁmmﬁm Rera
» w‘ﬁ . o ikg © tEi o EFH“L‘T’" t and walked
Seema ran 8 km towards east, then turne 'Tﬂ and started walking 6 km, then she tum;' }1;131; e b hzr
for 4 ki, Finally, she took a right and whiked for 18 km and reached her home. In whic

home located with respect to the starting ﬁﬂnt T :
(A) North-East (B) North () (C) East (D) South-East

88. W R Fre v, 4 wea “PARTNHR] #1 0ZQSMDQ’” & &7 # hifea forar S 8, dr i W
o2 *SEGMENT”’ & feg se war g 2 (O
In a certain code language, if the word ‘®PARTNER”’ is coded as ‘“OZQSMDQ
for the word ““SEGMENT"’ in that language ?

, then what is the code

(A) TFHNFOU (B) RDFLDMS (C) SERBCPT (D) QWSARTH
89. T T AT HIRT 3 F1h & & (Arsaes) 1 hivr 1a e |
ITHRT .
R iy N e
5 o
25% B340, 3 S [7]
& 7 . R
21% 2 A L
20% O
M ]
(A) 72° (B) 90° (L@ (C) 30° (D) 60°
Study the graph and find the angle of sector of coffee. :
Consumption n—
_ Juice
2
25% 134 % &) Coffee
" N
21% : ) Tea ae
20% [—]
. Water @,
[} B
(A) 72° (B) 90° Ql ©) 30° O) &
90, TAT 15 Hiex féror it 37 Ferdt 8, firt and ,.;%afrtzotﬁaafrcamﬁ '
e e R 2 9 > # 198 31 Yl fig & Freeft g w
(A) 20wz afror ® @ sde
(C) 25 diex afeor-afyam (D) 26 wfizy g
Anna walks 15 meters south, then turns right and walkg another 20 m t
is she from her starting point ? ¢ters. How far and in which direction
(A) 20 meters south (B) 23 meterg
(C) 25 meters south-west ( _I?)__ 26 meterg r:;;l
7 v ) S Page 14 of 24" """ mmeenl
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91. qﬁ- IR aﬁ. a,m %, .+'. s Eﬁ‘] mfﬂT %‘ ) K‘ q,ﬁ' Eﬂﬁ'(-ﬂ %' ‘)(’, ‘4 ﬁ m %, ?ﬁ'
30+ 10+ 6-5x6" HIAFMFTR? i 1 g S
If *+" represents T— *+* represents ‘~', =’ represents X', and ‘x’ represents “+’, then what is the value of
30+10+6-5x6""?
. -10
A) -14 B) -21 ~H‘ (©) 12 (D)
g2, U Whet H hET IX & BT & W AwH A, B, C, IPE[I i
c | @#FD
gRm A7 AL WA B GEEEl .
i 3 O 23 17
3 et & e BT 28 r(:j
sl wlien § argdil Af n l(.) s +' 3
aifie wiaT & Il s S\
G e 6 N 17 9 15
iR e F ST O
2T et 7 Il S 64 55 46 76

mﬁﬁmﬁﬁﬁmﬁmmﬁw@%mwﬁwﬁﬁmﬁﬁ frafafaad &

P FH TR ?

(A) ﬁmwaﬁqﬁmwwml-—
(B) ﬁmﬁmw%wmmﬁ#wml

(C) erefaTiies wie St s ot |
(D) e ydier stferen hia off |

L]

|'

% 19%

o)

A school has four sections A, B, C, D of Class Ii(‘ﬁtudents.

Result Section @} Section B | Section C | Section D
Students failed in both exams 28 23 17 27
Students failed in half-yearly but
) 14 12 8 13

passed in annual exams
Students passed in half-yearly but . A

o g 6 H 17 9 15
failed in annual exams G
Students passed in both exams 64 | 55 46 76

In the context of comparing the difficulty level

passing, which of the following statements is tru

(A) Both the exams had almost the same dlfﬁCEtL' level.

(B) The two exams cannot be compared for dn(f"nc).ulty level,
©

(®) Half-yearly exams were more diffic

"'!

THE |-

EDUCATIO
WEBSITE

"*P,* C9’"r
SHagaTRY

% (
AL

C\ﬁthe two examinations based on the number of students
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93 FrafRafae 3 & ap¥r-an st e, s s frga s sive st o8y iy e i 2 9

o - d World ?
Which of the following diagrams best indicates the relation between India, Haryana an

@2 @ =)o

94, g i a7 vE W iy |

Find the next term in the sequence, ;"
AB, ABB, ABBB, ABBBB, )
(A) ABBBBB (B) ABB l_,,,kC) ABBB (D) ABBBB

95. SR Fvaew R, T e s e e et e 4

&

RRTH ——
w
7 -\l 0!
TRM— | S 9 68
l
(A) 24 (B) 25 CEC) 22 (D) 23
Analysing the figure, find how many red objects a%,)not plastic.

Balls

(A) 24 (B) 25 HIO) 22 (D) 23

96. “mwmmwmﬁmw'%mgmmwaﬁﬁﬂﬁ HA-HTR 9
(A) a¥=d g1 e | [B) < st e
(C)  gferear & ST ¢ AT firefy 5 1y (D) 3T & eft i

97. Wﬁmﬁrﬁﬁﬁmﬂrmu{i@%? ®)
(A) FE (B) wiatwm [""FC) A w (D) Q[ ™

;:."::;';:';“ @ Watermarkly



]
100, O HEra R
; (A) == (B) wegew :.t‘z (C) (D) =gehfe
| 101 TS TR T Grtareh v s iy ]
; (A) Rl (B) anfr= 3% (C) (D) T
102, YT e Fhyd o O
‘J (A) IR (B) it L (C) ez Tt (D) AT
103, Rl i S R R, O
(A) SR = e e sy i | ® (B) @ifdrt Y feg T g g |
(©) ekt =Bt feer e e g | (D) STeiekaneat <t fogt e qear gt |
104. ﬁw%iﬁaaﬁﬁﬁ%ﬁ?qamﬁmmﬁ%? ' -
(A) Rres T @ i) (B) @ward ¥ oft =t
©) %ﬁﬁﬁﬁml H (D) Iﬁ%ﬁ%“ﬁﬁﬂﬂ%l
105, Frmforie # & e e qfeei 2 2 X
@ W (B) 3R U © =z e
ios, e dearanty R
(A) FHuT B) Ir=ivE S(C)ﬁ?gw e (D) =gt
1107, 3w Fiasvrae= o - _
@ T B) s ® © 3= ' D) 3t
108. ‘o FasrmE g
(8) = ®) s (©) = D) T
109. fe=t & Hera: ot i we a2 -
(A) 52 (B) s3. e (C) 50 D) 51
110. = T IRV TIH FH-ATE ? - x® .
(A) g . (B) @« [ © wat D) 75
111. gete fora auTd &1 3800 8 2 2
(A) sgeEamE @) BgEw () (©) Eww N —
112, ‘qg.qig.m’mrmzaﬁmﬁmmﬁwmg%rq%;

113,

() SR (B) IO © WA (o) Yqeramas
‘@ IqET A TR S ®©

(A) #4TE (B) ST ©) = (D) swfea
. referfias i & vaigaTeh aE 1 -1 3 T T 2 2
(A) WR-FeEw ~ (B) FH-FRH © wwadt-anfwr (D) wR- e
. gicar g o foe it f el e i &
A A el ) IR " e
Fd ® Watermarkly
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r/
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116, Fr=ferfaa 3 & wdt eanfe @ w2 Hf ]
(A) 0w g Qs e Al | (B) ooy et g e AT |
(C) =1 78 1 et B =1 et A= | (D) 13 ety v g 1 T A |

U7, St s o 9 ) P g e

(A) wrad aHE - (B) @
© W% e e T T
118, &6 @ afid: 8 '
(A) = w s [ © @ o e
119. Higer d st afag e C |
(A) =S ®) forenf @ © dref (D) ¥ |
120. et anef el YR HI-ATE ? |
(A) ﬁﬁt—ﬁﬁtﬁi & - g Eg; ;’Kﬁ_% B :me:;n?ﬁm |

(C) 3R — K = GH — A

121. R &1 qaigarEl TsE R .
(A) W9 (B) 3TH fé ) faw (D) g
122. Freffaa § & #H-87 S ER 1 ST ? [‘i] :
(A) THERR (B) wad o (C) €am (D) AR
123, BTG, AFRE: E’D
(A) Gfer adaH (B) wfewya (C) M= qdHAH (D) Tl adHH
124. mﬁﬁﬁmmﬁﬁﬁﬁﬁq—mmﬁﬂ%? | |
EEGEIRLY

(A) <% HTIFE (B) o9 W fahrer ® (C) HHaH

125, Frefefad arwt 3 & ey 3= fFa A A g ?
(B) - STg1 ek &I Heh, TS |

(A) TSI =M |
() fafemigmgl (D) e 37 T Ugt & |
126, ‘9 B 6 SHF FA AT F Y THIE R :
(A) Fm ® o o fert (0 s
127. “fieg’ F1Eifem Farem 2 l:‘-:i]“ ' ;
() T ® W g (© e (D) s !
|
|

. @ 1289 132 TE 94
S % Saet A 1 T O B &, FAfey STt et T ST | ST qRs R e
T T 3T G, GA IS T < ek | S oft ﬁﬁﬁwﬁwﬁﬁ%aﬁ:&ﬁiﬂg?g ‘
el il o i 1 S T4 1, YA e G F, T A 5 e wen e |
Tt & A AT T FAT G &, ST e e oler i s B ggargse s v st | g
mﬁmﬁﬁ,mﬁtwmﬁﬂm|ﬂiﬁ§f§r@%ﬂwﬁnﬁwﬁﬁwwmﬁqa@ﬁ% Wzﬁr?fé
ST 1 o 1T, e s g | v o
S o1 3 T, T T ST T A S | ST o o e gt | T i T |

---------------------------------
----------
N e m m e = ———————
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R _




128.

129.

130.
131.

132.

¢ 133.

134,

S CIE IR CRG

: reff & |
(A) WA A Al | (B) e 8 A &
(C) SIS R | ﬁ)) T8 3 FeeTIRr AT 2 |
fRrferied § @ - farer g @ 0 h
(A) TR AR I 41 =4 | NG,

(B) mwﬁﬁwﬁmﬁ.awﬁumﬂ@nﬁm
(C) a5 Hact Wy &Y @ A 8 |

(D) YA STIER Tl q3o 1Y 1@l | O

fFrfifaa J @ frg ysg w1 o ‘sl 89 ’

(A) T« (B) Fad ((@) ffera (D) ¥&2
TeIiYT &7 Sfea T g

?Eaﬂ?ﬂﬁﬁ (B) I W (C) aeafniTar (D) AT T

T 39 SET & HE o B H A 37 TR & 2
(A) FTET S AT AT G|

(B) IfGHHI I AT Y FaFAEh T |

(C) ¥ 5= 37K Fvfa & wd=ar &t a3 @ |
(D) Tavaraur firm 1 Terr e |

afe g gat oo & ufy i 3R Igar 2, A 9% foee GT%" -
(A) Ut (B) =faft g D) T
)

%L1%#

t%io

If a bird flies from East to West, what direction is it gin?
(A) Western (B) Southern Northern (D) Eastern

. XeY®:adEX, YHI T’
2. X3YHIFEX, YRR
3. X8Y®FIRX, YHIUMR
4. XSY®:IdRX, YHI U

. X2Y means X is the sister of Y

2. X3Y means X is the son of Y

3. X8Y means X is the husband of Y
4. X5Y means X is the wife of Y
Which of the following means that K is the mothcr-i@pw of H?

(A) H513J8L2K (B) H812J3KSL @ H3I5J3K8L (D) H215J3K8L

LHO%0%#

135, afzw, x Sy Fraf e, qurz, X Frofad, @ Z % R w s d o
(A) w8 (B) =M1 (©) 9™ (D) wf
If W is the mother of X and Y, and Z is the husband of X, then what is W to Z? :
(A) Sister (B) Uncle (C) Mother-in-law (D) MGtume o= - 0h
H?z‘ Zh - T Esresvessemsesmoloueny WASPRENO of 24 . TTTTTTTTTTTTTTT
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136. TR ve wrd i |
Find the dissimilar term, ﬁ::
0
P49, T4, Z64, K9. (D) K9
(A) T4 (B) Z64 sR(C) P49
O
137. 9w i ]
wmﬁm:fﬂamr::?:gmm @, (D) ATEESH
(A) @i Sgeiiaags (B) wfer CORLY
Complete the analogy :
Oxygen : Bumn :: ? : Extinguish (©) Hydrogen (D) Nitrogen

(A) Carbon dioxide (B) Helium

138. 27a@ﬁmm@xaﬁaﬁ%ﬁmrﬁ%mrﬁ%l afe @ 3 .
The cost price of 27 articles is the same as the sellipg price of x article

]

' 4
32C) 22 D) 2

3 s 15 Pl o1 7t T e A SR
e Uge & oG 15 et b gt 7 T & | TE AW

5062 AT X FAA TS ?
s. If the profit is 35%, then the value

of x1is:

Aa) 18 (B) 20

139, T SyTEHt SEC T 3 15 fent S &, o6 I 6 S
2| R 15 Rt 3 ame 78 7 S e @ 37
mﬁgﬁmgaﬁtﬁaﬁmﬁ%?

(A) 30+/2 forrft 2féror-gef B) 30/2 forrt afror-afem

(C) 30~/2 Tt ST-afem (D) 30~/2 forsft STt
A man went 15 km towards North, then turned East and covered 15 km and turned to the left. Again after

15 km he turned to the right and covered 15 km ttjeach the destination. How far and in which direction is

he from his starting point ? =R
. B) 30+/2 km South-West
(A) 30~/2 km South-East Do( ) 3042

~0
(C) 30~/2 km North-West 6([)) 304/2 km North-East

ANAFE | Tt g F I M M| P, Y

140. o8 @Al X, Y, Z, S, P i Q, T elTehR AT
| Pl QERGR H a1 2, s Fantsfp

S 3 offr i 7€ 41 2, AT TE & g
g pFadFEAE?
Six girls, X, Y, Z, 5, P and Q, are sitting around a circular table. All of them are facing toward the centre

of the circle. P is not sitting between Y and S, but someone else from the group is sitting there. P and Q
are opposite to each other, Z is to the left of S and right of P. Who is left of P 9

A) Z L TR, te HoalY (D) Y
el et ot AR e Page20 of 24 Tttt eemmccceeccaaaciocioes
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T A

50

2014
EF2013
" Bl 2012
T C Bl e / T 40

0 10 20 30 40 50 60 70
TS B H 3 el 1 T sref 2014%1%1@3?ﬁw11§:a1w o, T4 D o Titai ot | &1 foraar ufoera & siet
2012 ferrditertor forar o 2 =
(A) 80% (B) 65% L.:I (C) 40% (D) 33.33%
The given graph shows the number of villageéﬁﬁ four different states where electrification was done in
different years.

eato . [P e L I
tate S .: .:.:.: .:. .................. : .: .........................

A IAN IS IAA A IH A

State B 2014

72013
B 2012

State C

||
IS s //,(///// AP
State D [aiidoiidididiid 9

.......

T o 20 3014 s e 7
I\?umbcr{g(J villages

ber of villages in State B where eleclriﬁ&ation was done in 2014 is what percentage of the number
The number of v wher . ?
Oiljfdllagcs in State D where electrification was done in 2012

C) 40% (D) 33.33%
65% v 1Yo (C) 2l diaid ol () 2933%0ws qg)
____(A}__i}g%____________f?) ---------- “mr ave 21 of 24
TZ.2.4 - ﬂ\
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142, 3T3W 1, 2, 6, 24, 120  sreht wEm T 2

In the sequence 1, 2, 6, 24, 120, what is the next number 7

(A) 650 B) 720 ¢, (0) 360 - (D) 480
143, i@ 6, 24, 60, 120,_ﬁmanﬁwmz€fm;#

Find the next number in the series 6, 24, 60, 120, _“_Q

(A) 218 B) 210 e7c) 236 (D) 216

144, 3Rk 987 %} 123, 741 aﬁasg%mﬁaﬁ%mﬁma@lx.ﬁwﬁfgﬁﬂmaﬁ”?ﬂﬁ“‘"“"’?” ?
1£ 987 is coded as 123, 741 as 369, then 269 will b¢ coded as :

(A) 356 (B) 841 C) 367 (D) 840
145. #@a2, 5, 10,17, __ F@ AR
Complete the series 2, 5, 10, 17, . O
(A) 32 (B) 26 @kc) 24 (D) 28
146. afR e adit it 5 ARG ! TRaR I, df 36 He 3 20 aire & i & ame s-ar fam smom 2
(A) FuEw (B) W (C) dWar (D) HeER
If Thursday will fall on 5™ of a month, then which day will fall three days after the 20t? of that month ?
(A) Wednesday (B) Sunday :n:(C) Monday (D) Tuesday

147. S 319 SIS Fvinren i s @oe) w0 F faed 9t § o8 sen et & 135F e Pard 0
Which is the 13t letter to the left of the 6th lette{:fﬂom the right when you write the English alphabets in

backward order ? ]
(A) S (B) I O T (D) H

148. A TF 37 OF @A HT 15 §F0 T g et 2, 1 90 /eI 6 T A AT A ATt 39 37 H 600 Hex ¥ g
FI IR & 8 =T gag =i 2 ._ ®
(A) 378%Vg (B) 39 qFvs Q(C) 35 Yavg (D) 42 Ywve

If a train crosses a pole in 15 seconds, how long @ it take for the train, trave
to cross a bridge that is 600 meters long ?

(A) 37 seconds (B) 39 seconds (C) 35 seconds

149. s,vm&atﬁjP,saﬂtTa;rﬁm%,th,Mmﬁm%lv,Rrﬁaﬁl
P, V @ 5 yam daftra £ 9

lling at a speed of 90 km/hr,

(D) 42 seconds

(A) T (B) e He) W (D) far
S is the brother-in-law of V, P is the father of S and T, who is the father of M. V is the daughter-in-law
of R. E]
How is P related to V 7 "0
(A) Brother (B) Son ?- C) Father-in-law (D) Father
150, Afe, Wﬁﬁﬁﬁ%%mﬂﬁﬁﬁaﬁﬁﬁ%@.Wﬁwqﬁ%%mzﬁatﬁw%mﬁﬁ
e gag AT FTE ? C
(A) T (B) Wyl ,)(C) B D)

Namita is taller than Priya but not as tall as Madhff) Reena is not taller than N

amita but is not the shortest,
Who among them is the third tallest ?

() Roet' Ll D) MOt © Pria ____.......(D) Namita
1'1'1"'2:'.'2'5 ------------ Page220f24 @ ... . TRt eesccsamanaa..
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